

**Differential and integral operators on Appell's
matrix functions**

R. S. Batahan

M. S. Metwally

Differential and integral operators on Appell's matrix functions

R. S. Batahan, and M. S. Metwally*

Abstract:

This paper deals with the study of the Appell's matrix functions. An integral representation of these functions is derived here. Furthermore, certain relations are obtained by acting some operators to the Appell's matrix functions.

1. Introduction.

Appell's functions of scalar coefficients and variables appear in many fields such as statistical distribution theory, heat flow, astrophysics and related areas see for instance Exton [3] and Srivastava and Karlsson [12]. Some properties of Appell's functions in particular the second Appell's function has been recently presented in [2].

Appell's functions of real variables were generalized to these functions with matrix argument in [8] and [10], see also the book of Mathai [9]. Recently, Upadhyaya and Dhimi have presented some properties of the Appell's functions of matrix arguments in [13, 14]. Jódar and Cortés introduced and studied the hypergeometric matrix functions in [6, 7]. Some properties of gamma and beta matrix functions were given in [5].

Our main purpose in this paper is to obtain an extension of the hypergeometric matrix function to functions of more than one variable. Appell's matrix functions will be introduced as functions of two complex variables with matrix coefficients. The structure of this paper is the following:

Section 2 is organized to establish the four Appell's matrix functions and calculate its corresponding radius of regularity. In section 3 some integral representations for the first and the second of Appell's matrix functions are given. The functions contiguous to the

* Department of Mathematics, Faculty of Science, Hadhramout University of Science and Technology, 50511, Mukalla, Yemen, Department of Mathematics, Faculty of Science, Assiut University 71516, Assiut, Egypt

Appell's matrix functions and its relations are given in section 4. In Section 5 we act some operators on the Appell's matrix functions.

A matrix P in $C^{N \times N}$ is a positive stable matrix if $\text{Re}(\lambda) > 0$ for all $\lambda \in \sigma(P)$ where $\sigma(P)$ is the set of all eigenvalues of P . Let P and Q be two positive stable matrices in $C^{N \times N}$. The Gamma matrix function, $\Gamma(P)$ and the Beta matrix function, $B(P, Q)$ have been defined in [5], as follows:

$$(1.1) \quad \Gamma(P) = \int_0^{\infty} e^{-t} t^{P-I} dt; \quad t^{P-I} = \exp((P-I)\ln t),$$

and

$$(1.2) \quad B(P, Q) = \int_0^1 t^{P-I} (1-t)^{Q-I} dt,$$

where I is the identity matrix in $C^{N \times N}$.

If $P + nI$ is invertible for every integer $n \geq 0$, then

$$(1.3) \quad (P)_n = P(P+I)(P+2I)\dots(P+(n-1)I); \quad n \geq 1; \quad (P)_0 = I,$$

and

$$(1.4) \quad (P)_n = \Gamma(P+nI)\Gamma^{-1}(P); \quad n \geq 0.$$

From [5, theorem 1], we have

$$(1.5) \quad \Gamma(P) = \lim_{n \rightarrow \infty} (n-1)!(P)_n^{-1} n^P.$$

Let P and Q be commuting matrices in $C^{N \times N}$ such that the matrices $P + nI$ and $Q + nI$ are invertible for every integer $n \geq 0$. Then according to [6, theorem 2] we have

$$(1.6) \quad B(P, Q) = \Gamma(P)\Gamma(Q)\Gamma^{-1}(P+Q).$$

The hypergeometric matrix function $F(A, B; C; z)$ was given in the form [6]

$$(1.7) \quad F(A, B; C; z) = \sum_{n=0}^{\infty} \frac{(A)_n (B)_n [(C)_n]^{-1}}{n!} z^n,$$

for the matrices A, B and C in $C^{N \times N}$ such that $C + nI$ is invertible for all integer $n \geq 0$ and for $|z| < 1$.

If $CB = BC$ and $C, B, C - B$ are positive stable matrices, then for $|z| < 1$, the series (1.7) has an integral representation in the form [6, theorem 5]

$$(1.8) \quad F(A, B; C; z) = \left(\int_0^1 (1-tz)^{-A} t^{B-I} (1-t)^{C-B-I} dt \right) \Gamma^{-1}(B)\Gamma^{-1}(C-B)\Gamma(C)$$

The Schur decomposition of P was given by [4, pp. 192 – 193] in the form:

$$(1.9) \quad \|e^{tP}\| \leq e^{tM(P)} \sum_{k=0}^{r-1} \frac{(\|P\|r^{1/2}t)^k}{k!}, \quad t \geq 0.$$

2. Definition of Appell's matrix functions.

Let A, A_1, B, B_1, C and C_1 be matrices in $C^{N \times N}$ such that $C+nI$ and C_1+nI are invertible for every integer $n \geq 0$.

We define Appell's matrix functions as follows:

$$(2.1) \quad F_1(A; B, B_1; C; z, w) = \sum_{m, n=0}^{\infty} \frac{1}{m!n!} (A)_{m+n} (B)_m (B_1)_n [(C)_{m+n}]^{-1} z^m w^n,$$

(2.2)

$$F_2(A; B, B_1; C, C_1; z, w) = \sum_{m,n=0}^{\infty} \frac{1}{m!n!} (A)_{m+n} (B)_m (B_1)_n [(C)_m]^{-1} [(C_1)_n]^{-1} z^m w^n$$

,

(2.3)

$$F_3(A, A_1; B, B_1; C; z, w) = \sum_{m,n=0}^{\infty} \frac{1}{m!n!} (A)_m (A_1)_n (B)_m (B_1)_n [(C)_{m+n}]^{-1} z^m w^n$$

,

and

(2.4)

$$F_4(A, A_1; B; C, C_1; z, w) = \sum_{m,n=0}^{\infty} \frac{1}{m!n!} (A)_m (A_1)_n (B)_{m+n} [(C)_m]^{-1} [(C_1)_n]^{-1} z^m w^n$$

,

where for any matrix P in $C^{N \times N}$ $(P)_s$ as defined in (1.3).

Firstly, let us state and prove the following:

Lemma (2.1):

The matrix function $F(z, w) = \sum_{m,n=0}^{\infty} A_{m,n} z^m w^n$ is absolutely

and uniformly convergent in the open hypersphere $S_R; R > 0$ if

$$(2.5) \quad \lim_{m+n \rightarrow \infty} \overline{\left\{ \frac{\|A_{m,n}\|}{\sigma_{m,n}} \right\}^{1/(m+n)}} = \frac{1}{R} < \infty,$$

where

$$\sigma_{m,n} = \begin{cases} \frac{(m+n)^{(m+n)/2}}{m^{m/2}n^{n/2}} & m, n > 0; \\ 1 & m = n = 0. \end{cases}$$

Proof: We say that the matrix function $F(z, w)$ is convergent if $\|F(z, w)\|$ converges. That is we will investigate the convergence of $\|F(z, w)\|$. Let R_1 be any positive number such that $R_1 < R$, and let us consider the series

$$(2.6) \quad \|F(z, w)\| \leq \sum_{m,n=0}^{\infty} \|U_{m,n}\|,$$

$$\text{where } \|U_{m,n}\| = \|A_{m,n}\| \left\{ \max_{S_{R_1}} |z^m w^n| \right\}.$$

We will exploit the relation due to Sayyed [11], in the form:

$$\max_{S_{R_1}} |z^m w^n| = \frac{R_1^{m+n}}{\sigma_{m,n}}; \quad m, n \geq 0.$$

Thus, it follows

$$\|U_{m,n}\| = \|A_{m,n}\| \frac{R_1^{m+n}}{\sigma_{m,n}}.$$

Hence (2.5) gives

$$(2.7) \quad \lim_{m+n \rightarrow \infty} \|U_{m,n}\|^{1/(m+n)} = \frac{R_1}{R} < 1.$$

If R_2 is a real number such that $R_1 < R_2 < R$, then, from (2.7), there exists an integer m_0 such that

$$\|U_{m,n}\| < \left(\frac{R_2}{R}\right)^{m+n}; \quad m+n > m_0.$$

Clearly, one finds

$$\begin{aligned} \sum_{m,n=0}^{\infty} \|U_{m,n}\| &< K + \sum_{m>m_0} (m+1) \left(\frac{R_2}{R}\right)^m \\ &< K + \left(1 - \frac{R_2}{R}\right)^{-2} < \infty, \end{aligned}$$

where K denotes positive finite numbers independent of m and n , and which does not retain the same values at different occurrences, here

$$K = \sum_{0 \leq m+n \leq m_0} \|U_{m,n}\| < \infty$$

Therefore the series (2.6) is absolutely and uniformly convergent in S_{R_1} .

Since R_1 can be chosen arbitrary near to R , then the lemma is proved.

Now, let us the first Appell's matrix function F_I by

$$(2.8) \quad F_I(A; B, B_1; C; z, w) = \sum_{m,n=0}^{\infty} M_{m,n} z^m w^n,$$

where $M_{m,n} = \frac{1}{m!n!} (A)_{m+n} (B)_m (B_1)_n [(C)_{m+n}]^{-1}$.

Thus

$$\|F_I(A; B, B_1; C; z, w)\| \leq \sum_{m,n=0}^{\infty} \|M_{m,n}\| |z|^m |w|^n,$$

then, by using lemma (2.1) we have

$$\begin{aligned} R &= \lim_{m+n \rightarrow \infty} \left\{ \frac{\|U_{m,n}\|}{\sigma_{m,n}} \right\}^{1/(m+n)}, \\ &= \lim_{m+n \rightarrow \infty} \left\{ \frac{1}{m!n! \sigma_{m,n}} \|(A)_{m+n} (B)_m (B_1)_n [(C)_{m+n}]^{-1}\| \right\}^{1/(m+n)}. \end{aligned}$$

Since $1 \leq \sigma_{m,n} \leq (\sqrt{2})^{m+n}$, then with the help of (1.5) it follows

$$\begin{aligned}
 R &\leq \lim_{m+n \rightarrow \infty} \left\{ \frac{\|(m+n)^{-A}(A)_{m+n}\|}{(m+n-1)!} \|(m+n)^A\| \frac{\|m^{-B}(B)_m\|}{(m-1)!} \|m^B\| \frac{\|n^{-B_1}(B_1)_n\|}{(n-1)!} \|n^{B_1}\| \right. \\
 &\quad \left. \|(m+n-1)! [(C)_{m+n}]^{-1} (m+n)^C\| \|(m+n)^{-C}\| \frac{1}{mn\sigma_{m,n}} \right\}^{1/(m+n)} \\
 &\leq \lim_{m+n \rightarrow \infty} \left\{ \|\Gamma^{-1}(A)\| \|\Gamma^{-1}(B)\| \|\Gamma^{-1}(B_1)\| \|\Gamma^{-1}(C)\| \right\}^{1/(m+n)} \\
 &\quad \times \lim_{m+n \rightarrow \infty} \left\{ (m+n)^{A-C} \|m^{B-I}\| \|n^{B_1-I}\| \right\}^{1/(m+n)} \\
 &= \lim_{n(\alpha+1) \rightarrow \infty} \left\{ (n(\alpha+1))^{A-C} \|(\alpha n)^{B-I}\| \|n^{B_1-I}\| \right\}^{1/(n(\alpha+1))} \\
 &= \lim_{n(\alpha+1) \rightarrow \infty} \left\{ (\alpha+1)^{A-C} \|\alpha^{B-I}\| \right\}^{1/(n(\alpha+1))} \left\{ n^{A-C} \|n^{B-I}\| \|n^{B_1-I}\| \right\}^{1/(n(\alpha+1))}
 \end{aligned}$$

By using (1.7) we can write

$$\begin{aligned}
 \|n^{A-C}\| &\leq n^{M(A-C)} \sum_{k=0}^{r-1} \frac{(\|A-C\| r^{1/2} \ln n)^k}{k!}, \\
 \|n^{B-I}\| &\leq n^{M(B)-1} \sum_{k=0}^{r-1} \frac{(\|B-I\| r^{1/2} \ln n)^k}{k!},
 \end{aligned}$$

and

$$\|n^{B_1 - I}\| \leq n^{M(B_1) - 1} \sum_{k=0}^{r-1} \frac{(\|B_1 - I\| r^{1/2} \ln n)^k}{k!}.$$

Thus, we have

$$R \leq \lim_{n(\alpha+1) \rightarrow \infty} \left\{ n^{M(A-C) + M(B) + M(B_1) - 2} \right\}^{1/(n(\alpha+1))}$$

$$\lim_{n(\alpha+1) \rightarrow \infty} \left[\frac{\sum_{k=0}^{r-1} \frac{(\|A - C\| r^{1/2} \ln n)^k}{k!}}{\sum_{k=0}^{r-1} \frac{(\|B - I\| r^{1/2} \ln n)^k}{k!}} \right]$$

$$\left[\frac{\sum_{k=0}^{r-1} \frac{(\|B_1 - I\| r^{1/2} \ln n)^k}{k!}}{\sum_{k=0}^{r-1} \frac{(\|B_1 - I\| r^{1/2} \ln n)^k}{k!}} \right]^{1/(n(\alpha+1))}.$$

Since,

$$\sum_{k=0}^{r-1} \frac{(\|P\| r^{1/2} \ln n)^k}{k!} \leq (r \ln n)^{r-1} \sum_{k=0}^{r-1} \frac{(\|P\|)^k}{k!}$$

$$\leq (r \ln n)^{r-1} \sum_{k=0}^{\infty} \frac{(\|P\|)^k}{k!} = (r \ln n)^{r-1} e^{\|P\|},$$

for every matrix P in $C^{N \times N}$, then

$$R \leq \lim_{n(\alpha+1) \rightarrow \infty} \left\{ (r \ln n)^{3(r-1)} e^{\|A-C\| + \|B-I\| + \|B_1-I\|} \right\}^{1/(n(\alpha+1))} = 1$$

Therefore, the unity is the radius of regularity of the first Appell's matrix function F_I and so the first Appell's matrix function F_I is regular in the hypersphere $\bar{S}_r; r = 1$.

By analogous way, one can prove that the other Appell's matrix function F_2 , F_3 and F_4 are regular in the hypersphere $\bar{S}_r; r = 1$.

3. Integral representations.

Let A, B, B_1 and C be matrices in $C^{N \times N}$ such that

$$(3.1) \quad AB = BA \text{ and } B_1C = CB_1,$$

and $C+nI$ are invertible for every integer $n \geq 0$.

Suppose that

$$(3.2) \quad AC = CA,$$

$$(3.3) \quad A, C \text{ and } C - A \text{ are positive stable.}$$

By (1.4) we can write

$$\begin{aligned} (A)_{m+n} [(C)_{m+n}]^{-1} &= \Gamma^{-1}(A) \Gamma(A + (n+m)I) \Gamma^{-1}(C + (n+m)I) \Gamma(C) \\ &= \Gamma^{-1}(A) \Gamma^{-1}(C - A) \Gamma(C - A) \end{aligned}$$

$$\Gamma(A + (n+m)I) \Gamma^{-1}(C + (n+m)I) \Gamma(C).$$

By (3.2) and (3.3) with the help of (1.2) and (1.6) we have

$$\Gamma(C - A) \Gamma(A + (n+m)I) \Gamma^{-1}(C + (n+m)I) = \int_0^1 t^{A+(m+n-1)I} (1-t)^{C-A-I} dt$$

.

Hence

$$(3.4) \quad (A)_{m+n} [(C)_{m+n}]^{-1} = \Gamma^{-1}(A) \Gamma^{-1}(C - A) \left(\int_0^1 t^{A+(m+n-1)I} (1-t)^{C-A-I} dt \right) \Gamma(C).$$

From (2.1) and by (3. 1) we can write

$$\begin{aligned}
 F_1(A; B, B_1; C; z, w) &= \sum_{m,n=0}^{\infty} \frac{1}{m!n!} (B)_m (A)_{m+n} [(C)_{m+n}]^{-1} (B_1)_n z^m w^n \\
 &= \sum_{m,n=0}^{\infty} \frac{(B)_m}{m!} \Gamma^{-1}(A) \Gamma^{-1}(C-A) \left(\int_0^1 t^{A(m+n-1)I} (1-t)^{C-A-I} dt \right) \Gamma(C) \frac{(B_1)_n}{n!} z^m w^n
 \end{aligned}$$

Since the series and the integral can be permuted in the above expression, so we have:

$$\begin{aligned}
 F_1(A; B, B_1; C; z, w) &= \int_0^1 \sum_{m=0}^{\infty} \frac{(B)_m}{m!} z^m t^{A(m+n-1)I} (1-t)^{C-A-I} \\
 &\quad \sum_{n=0}^{\infty} \frac{(B_1)_n}{n!} w^n dt \Gamma^{-1}(A) \Gamma^{-1}(C-A) \Gamma(C) \\
 &= \int_0^1 \left\{ \sum_{m=0}^{\infty} \frac{(B)_m}{m!} (tz)^m \right\} t^{A-I} (1-t)^{C-A-I} \left\{ \sum_{n=0}^{\infty} \frac{(B_1)_n}{n!} (tw)^n \right\} dt \\
 &\quad \times \Gamma^{-1}(A) \Gamma^{-1}(C-A) \Gamma(C) \\
 &= \left(\int_0^1 (1-tz)^{-B} (1-tw)^{-B_1} t^{A-I} (1-t)^{C-A-I} dt \right) \Gamma^{-1}(A) \Gamma^{-1}(C-A) \Gamma(C)
 \end{aligned}$$

Therefore, we state the following:

Theorem (3.1):

Let A, B, B_1 and C be matrices in $C^{N \times N}$ satisfy (3.1), (3.2) and (3.3) and $C+nI$ are invertible for every integer $n \geq 0$. Then the first Appell's matrix function has the following integral representation:

$$(3.5) \quad F_1(A; B, B_1; C; z, w) =$$

$$\left(\int_0^1 (1-tz)^{-B} (1-tw)^{-B_1} t^{A-I} (1-t)^{C-A-I} dt \right) \Gamma^{-1}(A) \Gamma^{-1}(C-A) \Gamma(C)$$

Now, we consider the second Appell's matrix function F_2 .
Suppose that

$$(3.6) \quad B_1 C = C B_1,$$

$$(3.7) \quad B_1 C_1 = C_1 B_1,$$

and

$$(3.8) \quad B_1, C_1 \text{ and } B_1 - C_1 \text{ are positive stable.}$$

Since

$$(A)_{m+n} = (A)_m (A + mI)_n,$$

then by (3.6), (2.2) becomes

$$(3.9) \quad F_2(A; B, B_1; C, C_1; z, w) \\ = \sum_{m,n=0}^{\infty} \frac{(A)_m (A + mI)_n (B)_m}{m! n!} [(C)_m]^{-1} (B_1)_n [(C_1)_m]^{-1} z^m w^n$$

Similarly to (3.4) and by using (3.7) and (3.8) we get

$$(B_1)_n [(C_1)_n]^{-1} = \Gamma^{-1}(B_1) \Gamma^{-1}(C_1 - B_1) \\ \left(\int_0^1 t^{B_1 + (n-1)I} (1-t)^{C_1 - B_1 - I} dt \right) \Gamma(C_1).$$

Thus, (3.9) becomes

$$\begin{aligned}
 F_2(A; B, B_1; C, C_1; z, w) &= \sum_{m,n=0}^{\infty} \frac{(A)_m (A+mI)_n (B)_m}{m!n!} [(C)_m]^{-1} \\
 &\times \left(\int_0^1 t^{B_1+(n-1)I} (1-t)^{C_1-B_1-I} dt \right) z^m w^n \Gamma^{-1}(B_1) \Gamma^{-1}(C_1 - B_1) \Gamma(C_1) \\
 &= \int_0^1 \sum_{m=0}^{\infty} \left\{ \sum_{n=0}^{\infty} \frac{(A+mI)_n}{n!} (tw)^n \right\} \frac{(A)_m (B)_m}{m!} [(C)_m]^{-1} z^m \\
 &\quad \times t^{B_1-I} (1-t)^{C_1-B_1-I} dt \Gamma^{-1}(B_1) \Gamma^{-1}(C_1 - B_1) \Gamma(C_1) \\
 &= \int_0^1 (1-tw)^{-A} \sum_{m=0}^{\infty} \frac{(A)_m (B)_m}{m!} [(C)_m]^{-1} \left(\frac{z}{1-tw} \right)^m \\
 &\quad \times t^{B_1-I} (1-t)^{C_1-B_1-I} dt \Gamma^{-1}(B_1) \Gamma^{-1}(C_1 - B_1) \Gamma(C_1).
 \end{aligned}$$

Therefore, the following result has been established:

Theorem (3.2):

Let A, B, B_1, C and C_1 be matrices in $C^{N \times N}$ satisfy (3.6), (3.7) and (3.8) where $C+nI$ and C_1+nI are invertible for every integer $n \geq 0$. Then the second Appell's matrix function has the following integral representation:

$$\begin{aligned}
 (3.10) \quad F_2(A; B, B_1; C, C_1; z, w) &= \\
 &\left\{ \int_0^1 (1-tw)^{-A} F\left(A, B; C; \frac{z}{1-tw}\right) t^{B_1-I} (1-t)^{C_1-B_1-I} dt \right\} \\
 &\quad \times \Gamma^{-1}(B_1) \Gamma^{-1}(C_1 - B_1) \Gamma(C_1).
 \end{aligned}$$

4. The contiguous function relations.

In this section we give the contiguous function relations concerning to the first Appell's matrix function. We use the notation

$$(4.1) \quad F_1 = \sum_{m,n=0}^{\infty} U_{m,n}(z, w),$$

where $U_{m,n}(z, w) = \frac{1}{m!n!} (A)_{m+n} (B)_m (B_1)_n [(C)_{m+n}]^{-1} z^m w^n$.

Clearly, the multiplication in $(P)_n$ is commutative for every P in $C^{N \times N}$.

The contiguous function relations to $F_1(A, B, B_1; C, C_1; z, w)$ may be written in the form

$$(4.2) \quad F_1(A+) = \sum_{m,n} A^{-1} (A + (m+n)I) U_{m,n}(z, w),$$

$$(4.3) \quad F_1(A-) = \sum_{m,n} (A-I) (A-I + (m+n)I)^{-1} U_{m,n}(z, w).$$

If

$$(4.4) \quad A B = B A,$$

then we can write

$$(4.5) \quad F_1(B+) = \sum_{m,n} B^{-1} (B + mI) U_{m,n}(z, w),$$

$$(4.6) \quad F_1(B-) = \sum_{m,n} (B-I) (B-I + mI)^{-1} U_{m,n}(z, w).$$

Also, if

$$(4.7) \quad B_1 C = C B_1,$$

then it follows

$$(4.8) \quad F_1(B_1+) = \sum_{m,n} U_{m,n}(z, w) (B_1 + nI) B_1^{-1},$$

$$(4.9) \quad F_1(B_1-) = \sum_{m,n} U_{m,n}(z, w) (B_1 - I + nI)^{-1} (B_1 - I).$$

Finally, we give

$$(4.10) \quad F_1(C+) = \sum_{m,n} U_{m,n}(z, w) (C + (m+n)I)^{-1} C,$$

$$(4.11) \quad F_1(C-) = \sum_{m,n} U_{m,n}(z, w) (C - I + (m+n)I) (C - I)^{-1}.$$

Now, consider the differential operator D in the form

$$(4.12) \quad D = d_1 + d_2,$$

$$\text{where } d_1 = z \frac{\partial}{\partial z} \text{ and } d_2 = w \frac{\partial}{\partial w}.$$

It follows

$$(4.13) \quad (D \square \square A) F_1 = A F_1(A+),$$

$$(4.14) \quad D F_1 + B F_1 + F_1 B_1 = B F_1(B+) + F_1(B_1+) B_1,$$

and

$$(4.15) \quad D F_1 + F_1(C - I) = F_1(C -) (C - I).$$

From (4.13), (4.14) and (4.15), we get

$$(4.16) \quad (A - B) F_1 - F_1 B_1 = A F_1(A+) - B F_1(B+) - F_1(B_1+) B_1,$$

and

$$(4.17) \quad A F_1 - F_1(C - I) = A F_1(A+) - F_1(C -) (C - I).$$

5. Appell's matrix functions under some operators.

This section is intended for investigate the acting of some operators on the first Appell's matrix function. Firstly, operate with d_1 on the function $F_1(A, B, B_1; C; z, w)$ to get

$$d_1 F_1(A, B, B_1; C; z, w)$$

$$= \sum_{m=1, n=0}^{\infty} \frac{m(A)_{m+n} (B)_m (B_1)_n [(C)_{m+n}]^{-1}}{m! n!} z^m w^n$$

$$= \sum_{m,n=0}^{\infty} \frac{(A)_{m+1+n}(B)_{m+1}(B_1)_n[(C)_{m+1+n}]^{-1}}{m!n!} z^{m+1} w^n.$$

Note that, by (1.3), $(P)_{n+1} = P(P+I)_n$, for every P in $C^{N \times N}$.

Thus,

$$\begin{aligned} & d_1 F_1(A, B, B_1; C; z, w) \\ &= z \sum_{m,n=0}^{\infty} \frac{A(A+I)_{m+n} B(B+I)_m (B_1)_n [(C+I)_{m+n}]^{-1} C^{-1}}{m!n!} z^m w^n \end{aligned}$$

which can be written by (4.4) in the form

(5.1)

$$d_1 F_1(A, B, B_1; C; z, w) = z A B F_1(A+I, B+I, B_1; C+I; z, w) C^{-1}.$$

Now,

$$\begin{aligned} d_1^2 F_1(A, B, B_1; C; z, w) &= A B \sum_{m,n=0}^{\infty} \frac{(m+1)(A+I)_{m+n} (B+I)_m}{m!n!} \\ & \quad (B_1)_n [(C+I)_{m+n}]^{-1} z^{m+1} w^n C^{-1} \\ &= A B \sum_{m,n=0}^{\infty} \frac{(A+I)_{m+1+n} (B+I)_{m+1} (B_1)_n [(C+I)_{m+1+n}]^{-1}}{m!n!} z^{m+2} w^n C^{-1} \\ & \quad A B \sum_{m,n=0}^{\infty} \frac{(A+I)_{m+n} (B+I)_m (B_1)_n [(C+I)_{m+n}]^{-1}}{m!n!} z^{m+1} w^n C^{-1} \end{aligned}$$

$$\begin{aligned}
 &= z^2(A)_2(B)_2 \sum_{m,n=0}^{\infty} \frac{(A+2I)_{m+n}(B+2I)_m(B_1)_n[(C+2I)_{m+n}]^{-1}}{m!n!} z^m w^n [(C)_2]^{-1} + \\
 &\quad zAB \sum_{m,n=0}^{\infty} \frac{(A+I)_{m+n}(B+I)_m(B_1)_n[(C+I)_{m+n}]^{-1}}{m!n!} z^{m+1} w^n C^{-1}
 \end{aligned}$$

Similarly, when operating with d_2 on the function $F_1(A, B, B_1; C; z, w)$ and by (4.7) we get

(5.2)

$$\begin{aligned}
 d_2 F_1(A, B, B_1; C; z, w) &= wAF_1(A+I, B, B_1+I; C+I; z, w)B_1C^{-1}. \\
 \text{Therefore, with (4.4) and (4.7) we obtain} \\
 (5.3)
 \end{aligned}$$

$$\begin{aligned}
 DF_1(A, B, B_1; C; z, w) &= zABF_1(A+I, B+I, B_1; C+I; z, w)C^{-1} + \\
 &\quad wAF_1(A+I, B, B_1+I; C+I; z, w)B_1C^{-1}.
 \end{aligned}$$

Now, from (4.15), we have

(5.4)
$$DF_1(A, B, B_1; C; z, w) = [F_1(A, B, B_1; C-I; z, w) - F_1(A, B, B_1; C; z, w)](C-I)$$

and

(5.5)

$$\begin{aligned}
 D^2 F_1(A, B, B_1; C; z, w) &= F_1(A, B, B_1; C-2I; z, w)(C-2I)(C-I) - \\
 &\quad F_1(A, B, B_1; C-I; z, w)\{(C-2I)(C-I) + (C-I)^2\} + \\
 &\quad F_1(A, B, B_1; C; z, w)(C-I)^2.
 \end{aligned}$$

Hence, by mathematical induction, we obtain the following general form:

$$\begin{aligned}
 (5.6) \quad D^n F_1(A, B, B_1; C; z, w) &= F_1(A, B, B_1; C - nI; z, w) \\
 &\prod_{k=1}^n (C - kI) - \\
 &F_1(A, B, B_1; C - (n-1)I; z, w) \left\{ \prod_{k=1}^n (C - kI) + \prod_{k=1}^{n-1} (C - kI) \sum_{k=1}^{n-1} (C - kI) \right\} + \\
 &F_1(A, B, B_1; C - (n-2)I; z, w) \left\{ \prod_{k=1}^{n-1} (C - kI) \sum_{k=1}^{n-1} (C - kI) + \right. \\
 &\left. \prod_{k=1}^{n-2} (C - kI) \left[\sum_{k=1}^{n-2} (C - kI) \right]^2 \right\} + \dots + (-1)^n F_1(A, B, B_1; C; z, w) (C - I)^n
 \end{aligned}$$

Abul-Ez and Sayyed [1] introduced the integral operator in the form:

$$(5.7) \quad I_{zw} = \begin{cases} 1 & ; \quad m, n = 0, \\ I_z + I_w & ; \quad \textit{otherwise} \end{cases}$$

where $I_z = \frac{1}{z} \int_0^z dz$ and $I_w = \frac{1}{w} \int_0^w dw$.

We act the operator I_z on the first Appell's matrix function to obtain

$$\begin{aligned}
 I_z F_1(A, B, B_1; C; z, w) &= \sum_{m,n=0}^{\infty} \frac{(A)_{m+n} (B)_m (B_1)_n [(C)_{m+n}]^{-1}}{(m+1)! n!} z^m w^n \\
 &= \sum_{m=1, n=0}^{\infty} \frac{(A)_{m-1+n} (B)_{m-1} (B_1)_n [(C)_{m-1+n}]^{-1}}{m! n!} z^{m-1} w^n
 \end{aligned}$$

Clearly, from (1.3) one finds that for every matrix P in $C^{N \times N}$ the following holds

$$(5.8) \quad (P)_{n-1} = (P - I)^{-1}(P - I)_n.$$

Therefore, by using (4.4) and (5.8) we have

$$(5.9) \quad I_z F_1(A, B, B_1; C; z, w) = \frac{1}{z} (A - I)^{-1} (B - I)^{-1} \\ \sum_{m=1, n=0}^{\infty} \frac{(A - I)_{m+n} (B - I)_m (B_1)_n [(C - I)_{m+n}]^{-1}}{m!n!} z^m w^n (C - I) \\ = -\frac{1}{z} (A - I)^{-1} (B - I)^{-1} (C - I) + \frac{1}{z} (A - I)^{-1} (B - I)^{-1} \\ \sum_{m, n=0}^{\infty} \frac{(A - I)_{m+n} (B - I)_m (B_1)_n [(C - I)_{m+n}]^{-1}}{m!n!} z^m w^n (C - I) \\ = -\frac{1}{z} (A - I)^{-1} (B - I)^{-1} (C - I) + \frac{1}{z} (A - I)^{-1} (B - I)^{-1} \\ F_1(A - I; B - I, B_1; C - I; z, w) (C - I).$$

Similarly when acting the operator I_w on the first Appell's matrix function by using (4.7) we find

(5.10)

$$I_w F_1(A, B, B_1; C; z, w) = -\frac{1}{w} (A - I)^{-1} (B_1 - I)^{-1} (C - I) + \frac{1}{w} (A - I)^{-1} \\ F_1(A - I; B, B_1 - I; C - I; z, w) (B_1 - I)^{-1} (C - I).$$

From (5.9) and (5.10) under the conditions (4.4) and (4.7) we obtain

$$I_{zw} F_1(A, B, B_1; C; z, w) = \\ -\frac{1}{z} (A - I)^{-1} (B - I)^{-1} (C - I) - \frac{1}{w} (A - I)^{-1} (B_1 - I)^{-1} (C - I) + \\ \frac{1}{z} (A - I)^{-1} (B - I)^{-1} F_1(A - I; B - I, B_1; C - I; z, w) (C - I) + \\ \frac{1}{w} (A - I)^{-1} F_1(A - I; B, B_1 - I; C - I; z, w) (B_1 - I)^{-1} (C - I).$$

Acknowledgements: The authors express their sincere appreciation to Prof. Kamel A. M. Sayyed (Assiut Univ.) for a number of clarifying discussions.

References:

- [1] M. A. Abul-Ez and K. A. M. Sayyed, *On integral operator Sets of polynomials of two complex variables*, Simon Stevin, A Quarterly Journal of Pure and Applied Mathematics, Vol. 64, No. 2, pp. (1990).
- [2] R. S. Batahan, *Some Properties of Certain Sets of Polynomials and Appell's Functions*, M. Sc. Thesis, Assiut University, (2000).
- [3] H. Exton, *Multiple Hypergeometric Functions and Applications*, Ellis Horwood, Chichester, U. K. (1976).
- [4] G. H. Golub and C. F. Van Loan, *Matrix Computations*, Second ed., The Johns Hopkins University Press, Baltimore, MD, (1989).
- [5] L. Jódar and J. C. Cortés, *Some Properties of Gamma and Beta Matrix Functions*, Appl. Math. Lett. Vol. 11, No. 1, pp. 89 – 93, (1998).
- [6] L. Jódar and J. C. Cortés, *On the Hypergeometric Matrix Function*, J. Comp. Appl. Math., 99, 205 – 217, (1998).
- [7] L. Jódar and J. C. Cortés, *Closed form general solution of the hypergeometric matrix differential equation*, Mathematical Computer Modelling, 32, pp. 1017 – 1028, (2000).
- [8] A. M. Mathai, *Appell's and Humbert's functions of matrix Arguments*, Linear Algebra and its Applications, 183, pp. 201 – 221, (1993).
- [9] A. M. Mathai, *Jacobians of Matrix Transformations and Functions of Matrix Argument*, World Scientific, Singapore (1997).
- [10] R. K. Saxena, P. L. Sethi and O. P. Gupta, *Appell's functions of matrix arguments*, Indian Journal of Pure and Applied Mathematics, 28, no. 3, pp. 371 – 380, (1997).
- [11] K. A. M. Sayyed, *Basic sets of polynomials of two complex variables*, M. Sc. Thesis, Assiut University (1972).
- [12] H. M. Srivastava and P. W. Karlsson, *Multiple Gaussian Hypergeometric Series*, Ellis Horwood, Chichester, U. K. (1985).
- [13] L. M. Upadhyaya, H. S. Dhimi, *Appell's and Humbert's Functions of Matrix Arguments-I*, Institute for Mathematics and its Applications Preprints Series, University of Minnesota, Minneapolis, U.S.A. (2002).
- [14] L. M. Upadhyaya, H. S. Dhimi, *Appell's and Humbert's Functions of Matrix Arguments-II*, Institute for Mathematics and its Applications Preprints Series, University of Minnesota, Minneapolis, U.S.A. (2002).